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Abstract This paper describes an efficient method of incremental dependency parsing based on phrase structure
grammar with the dependency relation. The reachability relation between syntactic categories is utilized for con-
necting a head word with a dependent word simultaneously. The method does not need to construct the whole parse
tree of an initial fragment, and thus can be expected to be suitable for incremental spoken language processing. An
experiment on the ATIS corpus has shown our technique of utilizing the reachability to be effective for reducing

processing time of the incremental dependency parsing.
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